
1290 Super Duke R, black 2019 <2019><EU><F9903S9>
SIDE / CENTER STAND

51368

Pos Part Number Description Additional Text Quantity

1 6100302323333S Side stand w. magnet 1.00

2 61303028000 SIDE STAND MOUNTING 1.00

3 6130302600033S SIDE STAND BRACKET 1.00

4 61303027000 SCREENING SHEET 1.00

5 60303024100 SIDE STAND SPRING 1.00

6 0025080166S HH collar screw M8x16 TX40 SL 2.00

7 0035100249 AH collar screw M10x24 ISA45 2.00

8 61303028001 Special screw, side stand prin 1.00

9 61303023120 Step plate side stand M8 1.00

10 60411045000 SIDE STAND SENSOR 1.00

11 62503027200 Screw for side stand M10x31.2 1.00

12 0084040123 CYL.HEAD SCREW DIN84A M4x12 2.00

13 61011094000 CABLE TIE WITH PLUG M6 1.00

14 0035100309S AH collar screw M10x30 ISA45 ONLY FOR ADVENTURE R 1.00


